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Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MG
EINGE0II4FIE
EINEE0N 303238
EADGE0T 303237
EADGE0 303240
EADSEIN 302229
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCO
630680335000
EID6E01 303254
GADGE0N 303253
GADGEIN 303255
BANGE0N 303256
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Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MEL)
EANGE0FIA%IS
E306E801 303236
EADGER0N I0T2AE
EADSEIN 302224
EIDHES0N 303233
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Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
EID6E0334597
GADGEIN 303219
GADGEIN 30328
6INGE0N 303220
G306E01 303217
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Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :
Chosen Option :
Marks :

MCQ
630680335004
EAD6E0T30X2T1
BI0GE0T 302D
BIDGE0T I0F260
GAD6E0T303L 2
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Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :
Chosen Option :
Marks :

MG
BADSE0IIAFG
EINGE01 303251
E30EE01 303250
EIDGE01 303249
GADGE0N 303252
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Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MC0
EINGE0334992
E306E801 303221
EADER0N 303223
EADSBIN 302222
EANGEIN 303224
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Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

ML)
EINGE0334%88
EINEE0T 303206
EADER0 303205
EADSE0N 302208
EADGEIN 303207
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Question Type : MC
Question ID : EANGENAIFH0Z
Option 1 ID : GINGENTI0FE264
Option 2 ID : BADGEDTI0F2ET
Option 3 ID : BADGENT 0263
Option 4 ID : EADGE0TI0T2ET
Status : Answared
Chosen Option : #
Marks :
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Question Type : MG
Question ID : BINDGS0ZI45A0
Option 1 ID : 6306E01303215
Option 2 ID : GADEE0T1303213
Option 3 ID : GADGEIT30T216
Option 4 ID : G3NGEIN30E2T4
Status : Answered
Chosen Option : 4
Marks : Z
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Question Type : MG
Question ID : 630GE0E3A%ET
Option 1 ID : 306801303201
Option 2 ID : EADGEN 30203
Option 3 ID : EADGENT 303202
Option 4 ID : GINGENT 3004
Status : AnEwered
Chosen Option : #
Marks : &
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Ans
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Question Type : MG
Question ID : 63DEE0334534
Option 1 ID : GADGEENT 30229
Option 2 ID : E3DGENT 303231
Option 3 ID : BI0BENT 02T
Option 4 ID : 630GE0T1 303230
Status : AnEwered
Chosen Option : &
Marks : Z
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Question Type : KCiJ
Question ID : BADGEIEIA5ES
Option 1 ID : EADGEEIN30T19E
Option 2 ID : 63DGEIN 302153
Option 3 ID : EA0GE0T 303164
Option 4 ID : 6306501303196
Status : Amswered
Chosen Option : 4
Marks : Z
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Question Type : MG
Question ID : E3NGS0AF4%AZ
Option 1 ID : G3DGEE01303 181
Option 2 ID : GADEEIN30TT1ET
Option 3 ID : EADGENT 30182
Option 4 ID : EANGENT 303184
Status : AnEwered
Chosen Option: 1
Marks : Z
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Question Type : KCQ
Question ID : BADGEIAIEOIE
Option 1 ID : EANGETINI2EE
Option 2 ID : GAMGENTI0F2ET
Option 3 ID : B30GENTINF26E
Option 4 ID : GANGENT30FT266
Status : Angwered
Chosen Option : #
Marks : &
.16
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Ans
X 1. TS HAH
X 2 FcgUTATE HATH
o TS THE
X 4. ] TATH
Question Type : KICO
Question ID : GABGE03IA503
Option 11D : EAMGEITI0I2ET
Option 2 ID : 6ANGENT 303225
Option 3 ID : 6306E01303226
Option 4 ID : GIDGEENTI0I22E
Status : Answered
Chosen Option : &
Marks : &
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Question Type : KCQ
Question ID : EIDGE0I3IACED
Option 11D : EADERNTI0I212
Option 2 ID : B30BENT 303271
Option 3 ID : EANGENT 303209
Option 4 ID : GANEENT 30210
Status : Answersd
Chosen Option : 1
Marks : &
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Question Type : KMICO
Question ID : EIDGE0IFIACEE
Option 11D : EADEENTI0I200
Option 2 ID : E30&E0T 303148
Option 3 ID : B30GENT 305159
Option 4 ID : E30D6E01303197
Status : Answered
Chosen Option : &
Marks : &
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :
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Question Type :
Question ID :
Option 11D :
Option 21D :

Option 3 1D

KCO
EAD6R03T4581
EANGEIT 01T
BIOGE0T 3031 TF
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Option 4 1D :
Status :

Chosen Option :
Marks :
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Question Type :
Question ID
Option 1 ID
Option2 1D :
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Option 41D :

Status :

Chosen Option :
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: BIDGE0IS005
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Question Type :
Question ID :
Option 11D :
Option 2 ID
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Option 41D :

Status :

Chosen Option :
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Question Type
Question ID
Option 1 ID

Option 21D :
: EADGE 303189
Option 41D :
. ArEwered
Chosen Option :

Marks :

Option 3 1D

Status

- MC

: B3DEE0334%04
: BADEE0TI0E 190
EADGR0N 303192

EINGE0T 303191
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Question Type :
: BADGE0334T

: BA0GE0T 303244
: B306E0T 303241
Option 31D :
: BADSEN 30243
: Answered

Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status

Chosen Option :
Marks :

MCO
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Question Type : KCO
Question ID : EADGEIAIEH01
Option 1 1D : GINGENTI0F2SET
Option 2 ID : 6306E0T 305256
Option 3 ID : G30GE01303259
Option 4 ID : GADGENT 30260
Status : Answered
Chosen Option : 1
Marks : &
Section : English Language
0.1 Select the comectly spelt wond to fill in the bliank
e 15 10 |12 2Tt Dy
Ans X 1. Etigquette
/5 2. Etiquett
%" 3. Etiquette
X 4. Etiquete
Question Type : KICO
Question ID : EIDGE0ATAGIZ
Option 11D : E3DGENT 30FED
Option 2 ID : BI0GENT 3EE1
Option 3 ID : 6306E01 302984
Option 4 ID : EINEENTI0FIET
Status : Answered
Chosen Option : 4
Marks : [




1.2 Select the most appropriate articles to fill in the: blanks (@ indicates no article nesded),

Buxj Ehalifaks ______ tallest building in ______ whale world,
Ang X 1.0
o 2. the; the
X 3.the; o
X 4. ¢, the
Question Type : WG
Question ID : BIDGENEFA53T
Option 1 ID : G3NGE01 30980
Option 2 ID : 63DGB0130ZITY
Option 3 ID : GANGENTINFETE
Option 4 ID : GINGEINFTY
Status : Anewered
Chosen Option :
Marks : i
0.3 Pars of the following sentence have been given as options. Select the option that contains
an eftor,
| usually love 10 read in Right.
Ans X 1. Usually
w2
5 3. Love
X 4.To
Question Type : MG
Question ID : GIDGEI3IA%IE
Option 1 ID : 6306E01 303005
Option 2 ID : GANGEENT 303007
Option 3 ID : G3NGENT 30008
Option 4 ID : EANGENT 303006
Status : AnEwered
Chosen Option : &
Marks : O
0.4 Select the option that can substitute the underlined segment in the given sentence to make it
grammatically and contextually corect.
viou ghall had & hollday tomonmow.
Ans 4 1.shall have
X 2.shall has
< 3. had
/5 4. has shall
Question Type : KGO
Question ID : EADGE0AI4064
Option 11D : EADEENT 20111
Option 2 ID : B30GEIT 30110
Option 3 ID : EANGE0T 303109
Option 4 ID : EANGEENT1303112
Status : Answered
Chosen Option : 1
Marks : &




1.5 Select the most appropriate opticn to fill inthe blank.

My college starts 10 am,
Ans X 1. for

X 2.0on

o 3. at
X 4.in

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MECL)
B3NGE0334530
6306801302976
EIDGE01 307974
GADEE0NI0TITI
EADGE0T 0TS
Anawered

3

2

0.6 The following sertence has been split into four segments. Identify the sagment that conteins

a grammatical erroe.

A cailing fan is one that is mount / on the ceiling of your feam, funs on electricity £ and uses

redeting blades which cut the alr / to produce alrfiow.
Ans X 1.on the ceiling of your room, runs on electricity

o 2. A ceiling fan is one that is mount
#5 3. and uses rotating blades which cuts the air

< 4. to produce airflow

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCOQ
EAD6R0334533
EIDGE0T I0TIBE
EI0GE0T 3085
BIOGENT I0ZIET
6306601302968

Q.7 Select the most appropriste question tag to fill in the biank.

It Is mof cur place and | feel we shouldr't say anything,

Ans X 1. would we?
o 2. should we?
X 3.dowe?
X 4. could we?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MECQ
BIDGE03IA534
GADGE0TI0FITE
6306801302990
GIDGE0T I0TIET
EIDGENT INFIT




Q.8 Identify the most appropriate ANTOMNYR of the given word,

Clierear
Ans o 1. Dull
#< 2. Canned
< 3. Impractical
X 4. Unoriginal
Question Type : KIGQ
Question ID : GANDGS03FAEIS
Option 1 ID : G30GE01303012
Option 2 ID : 63DGB01 303009
Option 3 ID : G3NGENT 302071
Option 4 ID : G3NGENT 3000
Status : Anewered
Chosen Option: 1
Marks : Z
0.9 Select the most appropriate antiche to il in the blank. Select ‘Mo article’ if no article s
required.
| et ald man dawn the lane yesterday.
Ans 1. an
< 2.the
X 3.a
< 4. No article
Question Type : MG
Question ID : GIDGEIEFA594
Option 1 ID : 6306&01 303050
Option 2 ID : GIDGEE0T 303031
Option 3 ID : BADGENTI0X0Z2T
Option 4 ID : EANGENT 303032
Status : AnEwered
Chosen Option : &
Marks : O
0,10 Select the most approprigte puncbustion o fill in the blank
| boaugit books written by Fuskin Bond Jane Austen and Agatha Christie yesterday.
Ans 4 1., (comma)
X 2. (single quotation mark)
Z5 3.- (hyphen)
#5 4. " (double quotation mark)
Question Type : KCQ
Question ID : EIDGEIAIA04E
Option 11D : EADGEN I0X2E
Option 2 ID : B30GENT INHEE
Option 3 ID : EA0GENT 303028
Option 4 ID : EANGENT 30302
Status : Answered
Chosen Option : 1
Marks : &




0,11 Select the most appropriate option to fill inthe biank.

lhave ________ work todo than | did yesterday,
Anz X 1.many

< 2.much
< 3. most

...f4. more

Question Type : WG
Question ID : GINDGS03FA542
Option 1 ID : G30GE01 303022
Option 2 ID : 6306801303023
Option 3 ID : GANGENT 302024
Option 4 ID : BINGENT 303021
Status : AnEwered
Chosen Option :
Marks : i

0.12 Select the option that expreasas the given sentence in pas=ive volce,
Haszsan was flying & kite.
Ans o 1. Akite was being flown by Hassan.
5 2. Akite will be flown by Hassan.
/X 3. Akite was flown by Hassan.
5 4. Akite being flown by Hassan.

Question Type : KICO
Question ID : EIDGE0ATACIE
Option 11D : EADGENT I0FIGE
Option 2 ID : B30GENT 30000
Option 3 ID : B30GENTIHEST
Option 4 ID : EANGENT 307999
Status : Angwered
Chosen Option : &
Marks : ¥

(1,13 Part of the ghwen senfence that has been underlined containg an ermar. Sedect the option that
comacthy rectifies the ermor.

It is been raining cats and dogs sinca 8 a.m,
Ans X 1. It will rain

% 2. It has been raining
Z< 3.1Itis raining
/5 4.1t has rained

Question Type : KICO
Question ID : EIDGE0IAIAEIS
Option 11D : EADGEN INFIGE
Option 2 ID : B30B&ENT IS
Option 3 ID : EANGENT 302993
Option 4 ID : EANGEENT1 302995
Status : Answersd
Chosen Option : Z
Marks : &




(.14 Select the most appropriate adverb to fill in the blank,

Iy mother's food preparations are abvays _ delicious.
Ans X 1. shockingly

< 2. ordinarily
o 3. surprisingly
X 4. suddenly
Question Type : WG
Question ID : GI0GE03F4%40
Option 1 ID : G30GE01 303015
Option 2 ID : 63DGBI1 303016
Option 3 ID : G3NGENT 02013
Option 4 ID : G3NGENT 303074
Status : Anewered
Chosen Option : &
Marks : Z
0.15 Select the most appropriate meandng of the underlined kdicm in the following semence,
His idea of starting a cafe where only robots will serve food k= just & flash in the pan.
Ans X 1. Anarrow escape
< 2. An evil intention
%" 3. A momentary success
5 4. A huge attraction
Question Type : KCO
Question ID : EIDGE0ATAG]T
Option 11D : B3NN 30FIE3
Option 2 ID : B30GENT JEEE
Option 3 ID : 630GENT30ZAE1
Option 4 ID : EANGENT30ZAE
Status : Angwered
Chosen Option : &
Marks : &
.16 Select the most appropriate synomym of the given wond,
Solitany
Ans X 1. Flexible
< 2. Strict
o 3. Isolated
X 4. Hasty
Question Type : MG
Question ID : GA0GEI3I4WIE
Option 1 ID : B3DG6E0T3NZAEE
Option 2 ID : £306E0130Z8E5
Option 3 ID : EADGEN I0ZAET
Option 4 ID : EANGENT INFIEE
Status : Anewered
Chosen Option : 4
Marks : i




0,17 Select the most appropriate punctuation mark to il in the blank,

| loved reading Hitesh's boak, The Future of Mankind ______ The: Anthropocene and the
Climata Crisls.
Ans X 1.’ (apostrophe)
o 2.: (colon)
X 3.; (semicolon)
X 4., (comma)
Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :
Marks :

KCO
EAD6R033453T
EIDGS0T 302004
EI06E01 303003
BIOGE0T 303002
6306801303001

0,18 |dentify the speling emars in the following sentence and select the comectly spell sentence

fram the given coptions.
The apex coart made the chaarvetion while sentenceing a man to five years of Imprisonment
for torturring his wife and abeting her suicide,

/5 1. The apex court made the observasion while sentencing a man to five years of
imprisonment for torturring his wife and abetting her suicide

/X 2. The apex court made the obsarvetion while sentenceing a man to five years of
imprisonment for torturing his wife and abetting her suiecide

#< 3. The apex court made the obsarvation while sentencing a man to five years of
imprisonment for torturring his wife and abeting her suicide

o 4. The apex court made the observation while sentencing a man to five years of
imprisonment for torturing his wife and abetting her suicide

Option 1 ID

Question Type :
Question ID :

: BANGENT IDETE
Option2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

MCO
BADGE0ITAM0G

6306601302878
630680130880
GADGE0 I0ZATT

-




0,19 Select the most appropriate option to fill inthe biank.
Farha . some bueberry muffine for breakfast now,

Ans X 1.was making
25 2. will be make

% 3.is making
< 4. had made
Question Type : KCO
Question ID : EIDGRIATAHES
Option 11D : GINGENT 302125
Option 2 ID : BI0GENT 303131
Option 3 ID : EA0GENT 303130
Option 4 ID : EADGE0T303132
Status : Answired
Chosen Option : &
Marks : &
Q.20 Select the most appropriate meaning of the given prover,
A bad workman blames his toals,
Ans X 1.ltis said when someone has blamed a mistake or failure on the circumstances.
X 2. 1tis said when someone has blamed a mistake or failure on his co-workers.
o 3. It is said when someone has blamed a mistake or failure on the things that they use
to work.
5 4. Itis said when someone has blamed himself for a mistake or failure.
Question Type : MCL
Question ID : GINDGSIFIAR6E
Option 1 ID : 6306E01303120
Option 2 ID : EADGE0T30ZT19
Option 3 ID : EADGEN 30X 18
Option 4 ID : EAN&E 30T
Status : Anewered
Chosen Option : &
Marks : Z
0.2 Select the most appropriate ANTONYM of the ghwen waord.
Artificial
Ans X 1. Unreal
w#" 2. Natural
< 3.Bogus
< 4. FALSE
Question Type : M
Question ID : GIDGSIFIAHE6T
Option 1 ID : EADGENTI0NIT123
Option 2 ID : EADGE0TI0ET 24
Option 3 ID : EADEE0TI0ET 21
Option 4 ID : G3NGEIN3021 22
Status : Anawered
Chosen Option : 2
Marks : Z




0,22 Select the most appropriate opfion to fill in the blank and make a grammatically comct
BEMbENGE:

This joumal is very popular and s _____ twice a manth.
Ans X 1. appearing

w#" 2. published

5 3. appears
/X 4. appeared

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MECL)
BINGE03IAPGS
6306801303115
EID6E0T30T116
GADEB01303113
EIDGE0T303114
Anawered

z

2

0.23 Select the option that expreasas the given sentence in pas=ive volce,
The child will pick up the cufte puppy.

Ans X 1. The cute puppy would be picked up by the child.
75 2. The cute puppy will pick up the child.
/5 3. The cute puppy will have been picked up by the child.
s 4. The cute puppy will be picked up by the child.

Question Type
Question ID

: MGG
: BINGE034B6E
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status:
Chosen Option :
Marks :

E3DEB0N30E1ZT
BADEB0N303125
EADGE0T 3031 26
BINGE0T 3037 28

.24 Select the most appropriate question tag to fill in the blank.
Wou're coming o the party, 7
Ans 4 1. aren'tyou
/< 2. won'tyou
< 3.cantyou
X 4. don't you

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCO
EAD6R03T4541
EIDGSIT I02NT
EI0GE0T 30300
6I06E01 303020
6306801303018




(.25 Select the most appropriate meaning of the given prowverh,
Emiply bags can't stand upright.

Ans X 1. Afriend cannot help others if he is in trouble.

25 2. Sacks must be filled with sand to use it as barriers.

% 3. A poor or hungry person cannot discharge their duties well.

5 4. To gain financial benefits, one must cut down expenses.

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCO
EADEB0ATARET
EI0GE0T 302038
EI0GE0T 303090
6AD6R01 303097
EADGE0T 303100

Section : General Knowledge

01 HeA Fede deE-daR HR SR STeran Aare I
Ans X 1.

K 2. gRR

X 3. arfereter

& 4. T

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MGG
EADGE0AILRG2
BINEE0T 303104
EANGE0T 303102
E3D6E01 303103
GADGE0NI0I01
Answared

4

z

0.2 o fRvsh St v o Afedfiga smdat
Ans o 1. TTUfE RTST St

2 2. T ferroht St
X 3. e st ot
X 4. sgenfa faarsh St

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCO
EIDES0ATATR
EINGE0T I0ZD3T
GI06E0T 302920
G3D6E01 302930
EADGE0TI0FIET




0.3 @rcfierdd wiorar uroft Stae=aran A o sitsadrn s’

Ans X 1.0Ue
o 2. g
X 3. gar gt
X 4 R
Question Type : KC
Question ID : 63IDGE0EIA51E
Option 1 ID : GANGENTINFEZT
Option 2 ID : GINGENTINFES
Option 3 ID : GINGENTIFEE
Option 4 ID : 6306801302928
Status : Answered
Chosen Option : &
Marks : ¥
0.4 WERENE Teiid TATSTYYURGA o1 g e samg siglanf d@6faa gia?
Ans X 1. TomR R
X 2. fage et
< 3. MuTes sRraret
o 4. 91 e
Question Type : MCid
Question ID : 63DGE0E34345
Option 1 ID : EADGEENT 303036
Option 2 ID : EADGENT 30225
Option 3 ID : B30GENT 30334
Option 4 ID : 6306&01 303033
Status : AnEwered
Chosen Option : 4
Marks : &
0.5 Ereliedd R Jaream w@ws Sah U= g 'Hma=ar g @eoft aravardt ge st wuf
T heft g7
Ans X 1. OEaEH, grURIaET SO AT HAed
25 2. it SfOT SdAenst ST HATER
X 3. arforsy oy e Jarer
W 4. TEIHIUT SATMOT G AR HATeT
Question Type : MG
Question ID : GIDGEIEIA514
Option 1 ID : B3DGENTIXZIN0
Option 2 ID : G3DGEE0T130ZI09
Option 3 ID : EADGEEIT1 30311
Option 4 ID : EINGENTINFITE
Status : Anewered
Chosen Option : &
Marks : i




0.6 1870 7 S g Wragd WRard sfagaear g enfor =it sheteran
fremdisr™ Fers BuFTE & &t gia.

Ans X . Sdey a9
X 2. gt or
W 3. IGTT WER
X 4. shfare TeTeE

Option 4 ID

Marks

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

: BADGRN 303105

Status :

Chosen Option :

;0

MCQ
630680334963
6306801303107
630680303106
EIDGEIN 303108

Angwered
1

0.7 @rehierdd sord mifgedt wraren mifged srfder sifdfRamiata=n yrdieonga (dischasurs)
TS AT

Ans X 1. HEfOREET foemRfamst
o 2. T R 0T uranege Glaeiean qufrenelt Feifare mfget
X 3. ifvges aearast
X 4. gzl TR g fayaTa Sdetett ATt

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks : O

ML)
BANGE0I345T
6306801303138
GADGE0T 303140
GADGE0T1 303137
EADGE0N 3021 20

0.6 @rcfierdehl Sor AR Aaest WeeAT T aest afger smardia T gia?
Ans X 1. Srgsft e

W 2. A 3w Sisft
X 3. 38! faar
X 4. fads IeuraR

Option 2 ID
Option 3 ID

Question Type :
Question ID :
Option 11D :

C
EANGE03T404E
BIOGE0T 303030

: BADGE0N 303037
: B306601 302038
Option 4 1D :
Status :

Chosen Option :
Marks :

EAD6ENT 3024

Ll




0.5 92022 74, CBI 3 HIoTa ITaRIE ehu-ear I Seh=ifaRtHTd WETRTE "l SRae
hel?

Ans o 1 Acw ATw

X 2. fEgE
75 3.
< 4. P RreT
Question Type : MG
Question ID : G30G&0334%50
Option 1 ID : GADEENT30IDSE
Option 2 ID : G3DGENT 30254
Option 3 ID : G3NGENT 3053
Option 4 ID : 630GE0T30H56
Status : ArEwered
Chosen Option : &
Marks : ¥
0.0 STetepi<ar Aitha 3nfor sifrard (RTE) feroman sifdfemam, 2009 _______ iSft siwera simorer f«r.
Ans X 1.1 9l 2009
X 2.2 3ffaeteR 2009
W 3.1 72010
X 4.15 3ifre 2009
Question Type : MELd
Question ID : BI0DGENEI4557
Option 1 ID : EANGEENT3030ST
Option 2 ID : GADGEENT 30305
Option 3 ID : EADGENT 30X0ED
Option 4 ID : B30GENT INFSE
Status : AnEwered
Chosen Option : &
Marks :
O & 2022 Hed, STRRES diel Sfuwe Such Ui e HoRE B lurd a1 §&=
Hel?
Ans o 1. SUHEIMTISR (e-FIR)
X 2. fSiegT e SRt JiersT T
X 3. 3T TN hIHhTSITR TS T
< 4. Afgan st
Question Type : KCQ
Question ID : EIDGRIAIAHE
Option 1 ID : BI0GENT INHEE
Option 2 ID : 630GE0T 303068
Option 3 ID : EANGENT 3065
Option 4 ID : EADGEEN I0IDET
Status : Answered
Chosen Option : 4
Marks : ¥




(1,12 =1 hivrdT UehR=AT TR saaiard) siteadr sirdal?
Ans X 1. oRd-sigidEn

X 2. Iwrahfedsfg
X 3. auig
o 4. ffd arede
Question Type : KC
Question ID : 63DGE0EIA522
Option 1 ID : G3NGENTI0F944
Option 2 ID : G3NGENT30F43
Option 3 ID : BINGENT F0FA41
Option 4 ID : 6306E01 302942
Status : Answered
Chosen Option : 4
Marks : ¥
.13 3011 =0 SFVRTER, MRATH I ShIoTeT a1 stehae=t aaar gafa wft eng?
Ang X 1. Rghm
X 2. fsiRm
g 3. STVl T
X 4. ARl
Question Type : MCid
Question ID : 630GE0E34912Z
Option 1 ID : EADGEENI 30F02
Option 2 ID : EADGENT 30FI03
Option 3 ID : EB30B&EN 30F01
Option 4 ID : 630GE0T3DF04
Status : ArEwered
Chosen Option : &
Marks : &
Q14 197 2023 Ioft, THTRIT STeIed TTCy TSI KTSHY (Guts Amidst Bloodbath) TT
QEIBTd @i Ieque| HIvrdT fehebeugd! &l 3M1g?
Ans o 1. S TRIGhATS
X 2. % i
25 3. griteT TmeRe
X 4. 5 da
Question Type : KCQ
Question ID : EIDGE0AILAGTS
Option 11D : EADGEN30FI13
Option 2 ID : B30BENTIETE
Option 3 ID : EANGENT30ZE
Option 4 ID : E3NGEE0T1 302914
Status : Answered
Chosen Option : &
Marks : ¥




0,15 a=omaf? (plastocheon] ar ereerar g o smg?
Ans o 1. 39 o sere e daT SiR

X 2. quich TAVUTTT THIE SAeielT Yeh UehRET cTeeh
X 3. ummeter gRagear amom
75 4. USRI YT &7 Qehdh

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

MCO
GADGB0334520
GIDGA0T 30TI34
BINGE0T I0TVIE
BIDGE0TI0ZV3T
G060 I0FI36
Arswered

2z

1]

(.16 figm Rufdier sreitfees (HRa) fremoar __ aeff gt gt

Ans o 1.1923
X 2.1922
% 3.1921
X 4.1924

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCQ
GIDGE0334547
EAD6E0T 303043
EIDGE0T 302042
EANGE0T 303041
BIOGE0T 303044

0.17 S yaesarEnd) Sivrh 9 siteae st
A X 1. e A

25 2. T &

X 3. g

W 4. REd T

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

MCQ
BANGE03ZAF2N
6306801302937
GADGE0T 30T
EIDGENT I0TA4D
BIDGE0T I0ZV3E




Q.18 Fgari 2023 A, WBRA T Ut 1A= HraTga 30 wle S MR, TIEeis! SHIoTe Husor Jdy
IegIEI9d dshR HRUUIEIS] 8 370 fE2is- Hevard 31a 32

Ans X 1.91
X 2. fafdem
o 3. Bl
X 4. Siarse
Question Type : KGO
Question ID : EANGEIEI404%
Option 1 ID : 6306E01 303052
Option 2 ID : EADGENT 03051
Option 3 ID : EADGENT A0S0
Option 4 ID : 63DGENT 302045
Status : Anawered
Chosen Option : &
Marks : Z
0.19 YRATN @iefierdh SRIoTeT Teg-R-5Re sidifa=ar arauone gu[A RisER} sered sfor
famoft sreTera gi TefuerT wITgAT HRUAT Srreft?
Ans X 1. 7S Jaett
X 2. TS spiarfeT
o 3. A g
X 4. 1 R
Question Type : KCO
Question ID : EIDGRIATAFTE
Option 1D : EAD&ENT30FNE
Option 2 ID : 630GENTIDETT
Option 3 ID : E30GEE0130Z2919
Option 4 ID : GADGEE030FI20
Status : Answered
Chosen Option : 4
Marks : [
0.1 G20 yRarh faad vafaror enfoy garm enyyaan ard e (ECSWE) < dow A 2023 g
A% "= AT,
Ans X 1. R=h
X 2. FidAhEr
o 3. 1%
X 4.3
Question Type : KCL
Question ID : EIDGE0334513
Option 1 ID : GADGENTINFI0T
Option 2 ID : EANGENT 30FI08
Option 3 ID : GINGENTIFO5
Option 4 ID : 6306ET3IXZI06
Status : AnEwered
Chosen Option: 1
Marks : ¥




0.3 mfgdar sifder (RT1) siffAaardie gurongar, @ &g enfor sreg anfeht smyeri=n

hTehTes HTOT A Saa.
Ang o 1. Fg AR
27X 2. TRar Igudt
X 3. YRA™ Tated rTea
X 4. R IO
Question Type : MG
Question ID : G30GE0334570
Option 1 ID : E3DGE01303136
Option 2 ID : GADGENT 30136
Option 3 ID : G3NGEIT 303133
Option 4 ID : G30GE0T 305134
Status : ArEwered
Chosen Option : &
Marks : I
(.72 & 2023 g, @refleTdeh shivTeaT Isard fAT-21 Siear sraurd STer?
Ans X 1. gRamon
i 2. ST
X 3. TR
X 4. uSTe
Question Type : MELd
Question ID : 306034548
Option 1 ID : EANGEENT 303045
Option 2 ID : GANGEENT 303047
Option 3 ID : EADGENT 302048
Option 4 ID : BI0GENT 046
Status : AnEwered
Chosen Option : &
Marks : i
0.23 YRATd, @ieiierd<hl SHIvTa BT ARTRepen2ft defded a7
Ans X 1. TReT HATI
Wi 2. T8 HAT
X 3. SICUEATH FAER HATT™
X 4. faeft g =g wATer
Question Type : MG
Question ID : GADGEI3IA51F
Option 1 ID : B3DGENTIXEIZEE
Option 2 ID : GIDEE0T130FIZ3
Option 3 ID : GADGENT30Z924
Option 4 ID : E306EEN 30381
Status : Anewered
Chosen Option : 2
Marks : Z




0,24 arReprea gl sraer 2008 JUR, HloTer €4 3218 AnTies @ WRar w2t arRes o
iguft FRUaTg T A gia?

ANl o 1. TR SMTOT AivTemTes
X 2. JuTes oy o @
75 3. Arercia Sfor sficier

< 4. = enfor Aifan
Question Type : MG
Question ID : G3DG&0334952
Option 1 ID : GADGEENTI0INE2
Option 2 ID : G3DGENT 302064
Option 3 ID : G3NGENT I0FET
Option 4 ID : 630GENT 303061
Status : ArEwered
Chosen Option: 1
Marks :
.25 Stegt grdY MS-uTerutde fEitermed Qe Tl TiTds 5-9¢ . degl 7t Tomdesh fRgmdayr
TRANES .
Ans X 1. gofa: Uiedt SRUTSE - 3% [1eRd ATEL
X 2. R feemda
< 3. e Tt R wss
W 4. UgieermeieT SR TTSgguHTl
Question Type : M
Question ID : GINGEIFIA%E0
Option 1 ID : 6306E013031 76
Option 2 ID : BANEENT30F1TI
Option 3 ID : GANGEE0T303174
Option 4 ID : GIDGEIINITE
Status : Anawered
Chosen Option: 1
Marks : O
Section : General Intelligence
0.1 SR gEren s=hiv 90 km siar 45 ki, a1 3 sraet snfoy 150 km 3 g¥R siar 50 km/'h S
IR &, AR Yof Jararars) @ram TR & fhdt smg?
Ang X 1.46 km/h
< 2. 49 km/h
o 3. 48 km/h
X 4.47km/h
Question Type : MCLd
Question ID : BINGS0ZIAE YT
Option 1 ID : GANGE0T1 303164
Option 2 ID : EADGEEI30F163
Option 3 ID : EADGENT I0I1E1
Option 4 ID : GINGENT 031 &2
Status : Anewered
Chosen Option : &
Marks : Z




0.2 20172 Rfve awigar TG 1217 A S6fia o, araueR, PE 13 8 TW 1657 f T<fda o,

T JohigER "WE 15 @ @refiera<hl sheneft Hsfda smg?

Ans X 1.AQ255

W 2. AD 225
X 3.BC625
X 4.AC 245
Question Type : MG
Question ID : G30G&0334%255
Option 1 ID : GADGEEN30IDTE
Option 2 ID : G3DGENT 02T
Option 3 ID : G30GENT 30N TE
Option 4 ID : G30GE0T303T4
Status : ArEwered
Chosen Option : &
Marks :
0.8 SR QehT IUTERTAT 12% I, UTSheh aaTuT=aTet 15% Toh1 3o faRRentss fashaamenn 20% AT ATe
3, TR Taereat IATEAT fehwa 2ntem, saTh faRRenlss fama 715,456 amd.
Ans X 1.%12,000
/< 2.%20,000
" 3.310,000
% 4.315,000
Question Type : M
Question ID : GIDGEIIIAETE
Option 1 ID : 6306E01303 142
Option 2 ID : BANGEENT 303744
Option 3 ID : EANGEEIT 303141
Option 4 ID : B3NGB 303143
Status : Answered
Chosen Option : &
Marks :
0.4 URSaTSIT=aI arfieh fohel Zah TR Yah Yahn 16 aufa fa=ar goe gida?
Ans o 1.6.25%
X 2.12.5%
X 3.2.5%
X 4.56%
Question Type : KCG
Question ID : BIDGENEILET4
Option 1 ID : EABGENT 303140
Option 2 ID : G3DGENT 303150
Option 3 ID : E3DGE01303152
Option 4 ID : EIDEEI1 303151
Status : Anawered

Chosen Option

21

Marks : Z




0.5 fRh miforen adgea gof gvarars! usiRgrem (7] Smft @reierdd stomar gafg smer oigs?

3,59,17.33.7
Anz X 1.61
x 2.66
W 3. 65
X 4.63
Question Type : KICG
Question ID : E3NGEENEI4H10
Option 1 ID : 6306E0T3NEA96
Option 2 ID : G30GE01302893
Option 3 ID : GADGEE0T30ZAS
Option 4 ID : G3DGENTINZASE
Status : Anawered
Chosen Option : &
Marks : Z
0.6 Sisar:15+[18 - {4+ (16— 5.
Ans X 1.17
X 2.15
X 3.21
o 4.18
Question Type : BCQ
Question ID : BANGEIZIAHET
Option 1 ID : GINGENT I0FEE
Option 2 ID : G3NGE0T3030E1
Option 3 ID : EANGEENTI0I0EL
Option 4 ID : E3D&EI130D0ET
Status : Answered
Chosen Option : #
Marks : Z
0.7 Sush gufgrarer snutlka R mifedsa usifegren () srft v argen ga?
WY,CELK?
Ans 1.0
X 2.R
X 3.8
X 4M
Question Type : BCQ
Question ID : BADGENAIA5ET
Option 1 ID : EANGENT INFIET
Option 2 ID : GINGENT IFEE
Option 3 ID : B3DGEDT3XEI64
Option 4 ID : GIDEE0T30ZFIET
Status : Answered
Chosen Option : 1
Marks : &




0.8 SR uEmen =k o ¥ 5 fhadier @< dheur sfor an ¥ & fahaefien 5 af<aeh amvmmot

farereaT, R @i T eelhal 3R

Ans X 1.43%
o 2. 44%
X 3.41%
X 4.42%

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status

Chosen Option :

Marks

MCQ
G306E0334573
6306801303146
EIDGE0T 303145
BI0GE0T 303748
BIDGE0T 303147

. Answered

z

3

0.8 R fRram snftr P srergder aran. el fFum & amaut ara awaideft st s

STead, a9 o T g o€ e U, Aspufahl e e
farerieft acheira eng/smga & a<an.
faum : o 912, g1 emga.
hTEY gTd, UTd 318
s (1): 9 ureiett, 912 amga.
freenet (1] 1Y B4, UTEIET ST,
AnE o 1. Faos s (1) TR 8.

2< 2. fasae (1) fohar fosent (1) Sht yerg) adheira gl
X 3. Faw frsa (1) qhdTa o2
2 4. s (1) anfor (11) 8 &g deheiTd Smea

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MGG
BANGE0IFAT24
E30EE0T 302950
EADGE0T 30FIS
GADGE0N 30Z949
GADGEIN I0F52
Anawered

1

z




0.10 R sier-awgi=n Sidws seeun SeumuHTo G Sy geffumRr sier-wgg Rewan
yafaiga Fast.
EUK : K&
ARH ; GEN
Ans 4" 1.0LD:URJ
X 2.DGI: JMN
< 3.GUR: JBX
2 4.1L0:0QU

Question Type : MECid
Question ID : BADGEI3IAIE
Option 1 ID : BADGENTI0FAST
Option 2 ID : GADGEITINFIES
Option 3 ID : EANGENTINFEE
Option 4 ID : 630GENT IEED
Status : AnEwered
Chosen Option: 1
Marks : &

0.11 gush quisrarer sneaRa Reear miferda usiRsgrean (7) st s araen ga?
SYE, QF, Obab, 7
Ans X 1.MTP
X 2.NTP
X 3.NTQ
& 4.MTQ

Question Type : MG
Question ID : GINDGE03FA52E
Option 1 ID : 6306E0130ZI6T
Option 2 ID : GIDEENTI0FIEE
Option 3 ID : GADGENT INFIEE
Option 4 ID : G3NGENINFHES
Status : Anewered
Chosen Option : 4
Marks :




0.12 R gefieRondie (x) 2 g e,
35% of 1500 + X = 45% af 4200 = 320

Ans X 1.1012

< 2.980
X 3.910
o 4.1045
Question Type : KICG
Question ID : E30GEEIEI4058
Option 1 ID : 630GE0T3030ET
Option 2 ID : &306E01 303086
Option 3 ID : GADGEI30INEE
Option 4 ID : 63DGENT302EE
Status : Answered
Chosen Option : 4
Marks : Z
Qa3
AR AE-sitsaT feear sndd, ARl i fafte a2+ gue endd enfoy es avrssieng. mera 9
U eree-SitEl A=t
Ans X 1. o RO arAI G
o 2. TSUTES : uefide
25 3. Tt : AR
X 4. Ipet : Fifes
Question Type : MELd
Question ID : BI0GS03F4R56
Option 1 ID : EANGENT3030E0
Option 2 ID : EADGENT30307Y
Option 3 ID : EADGRN 30XTF
Option 4 ID : E3NGENTINFTE
Status : AnEwered
Chosen Option : 4
Marks : i
.14 TSI} aritfen TOT F&ITT 99, ST fohelt Tah &R ek BRIfdeh YaeRd 2 aufe foean gue
giEaT [qaa IR 1 &=1i*T RATTE gotifeha et
Ans o 1.41.4%
X 2.39.4%
X 3.44.4%
X 4.40.4%
Question Type : KCG
Question ID : EADGENA3457S
Option 1 ID : GINGENT 305154
Option 2 ID : B306E0T303156
Option 3 ID : GANGEE0T1303153
Option 4 ID : EADEEI 30158
Status : Answered
Chosen Option : #
Marks : i




0,15 RN arferem adhgear guf glvararé) wsiRgren (¥ swft @rcfierdd wtorar vafa sier oifgst?

HIT, LkAZ, P04, 7
Ans o 1.TU7
X 2.Tv7
X 3.Uvs
X 4.vU8
Question Type : KICG
Question ID : E30GENEI4H0G
Option 1 ID : 630GE0T 302891
Option 2 ID : G30GE0130Z8E9
Option 3 ID : GADGEENT30ZAS0H
Option 4 ID : G3DGENTINZAT2
Status : Answered
Chosen Option : 1
Marks : Z
0.16 45 krv'h ST IaTe ShROTIRY Ueh 891 24 Schaid Qehl @idTd ileisd. @ ¢t wisft fneft amg?
AnE 4 1.300m
K 2.125m
25 3.130m
X 4.150m
Question Type : KCQ
Question ID : EADGEIAIAGTE
Option 1 ID : GINGENT 0160
Option 2 ID : 6306E01303157
Option 3 ID : BANGEENT303158
Option 4 ID : BADGE0T 30T 59
Status : Answarnd
Chosen Option : 1
Marks : Z
0.17 28/l iR s Resfavarard! #9127 L Radien gura et owmome urofi fRves aifgst?
Ans X 1.3:2
X 22:3
X 3.2:1
wa4.1:2
Question Type : BICQ
Question ID : EIDGEIATAHE0
Option 1 ID : GINGENT 300G
Option 2 ID : EA0GE0T 3030594
Option 3 ID : G3DGENT 30026
Option 4 ID : GIDEE0T1 303025
Status : Answered
Chosen Option : &
Marks : [




.18 @refie arRah fi= vafaia g RAfe arew=f smg enfor e i ek e aar giat, @torar

vata @ e a9 gl
Ans X 1.EMH
X 2.170
& 3. YGE
X 4.SAV
Question Type : MG
Question ID : G3DGE0334523
Option 1 ID : GADGEIT30ZFILT
Option 2 ID : GADGENT30ZI48
Option 3 ID : G3NGENT INF4E
Option 4 ID : B3NS0 INZI45
Status : ArEwered
Chosen Option : &
Marks :
0.19 A snfoy B Mg gen o1 30 Rar<ia gof & 2rerara. @it e 20 Reaw &r et snfor iar B
fre e, soredt 20 Rewisar, A 7 IR @r gof dhat. @R A et Rawria & &m garear gof
e 2AHAL?
Ans X 1. 54
o 2. 60
X 3. 50
X 4.40
Question Type : KGO
Question ID : EADGEIA345TE
Option 1 ID : GINGENTIDF1ET
Option 2 ID : 6306&01303168
Option 3 ID : GANGENT 30T 166
Option 4 ID : BADGRNINTTEE
Status : Answered
Chosen Option : &

Marks :

z




0.3 @refier s1er, Rsgie arfedar dgaf @ onfoy nsma 3wr en, wisoft §f daw srfiaga sodia:
RIGATH! 31TE.
(FAIHEEVEMOSEYSLWTRECU*EINZ>LI(SR)
3% ar2ft fonet A8 e, SR uderrem aTarsala aimeft gk wR S8 W arasdald AR ©R
argr?

Anz X 1.0&
X 2.d=
X 3.3R
W43

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MECD)
EANGE0II4528
BINGES0N 30256
EINEE0T 302954
EADEER0T 302953
EADSEIN 302956
Answarnd

4

i

0.1 Qo erchiear asift Tl SiTe. ane erehl HRUATH 8 d19 ST, SR sl SATell THe, av reht
WRUITH Qeh dATH hHl SATTSAT 31T, sl 1ies erehl gufuot Reprht ghoarand faredt de emier?

Ans 1. 48T
X2 55%?:1’3

'3 560M
X 4.15dH

Chosen Option

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

13

Marks :

MCO
GADGB03T45TT
EADGE0N 302169
BANGE0N 303170
6ANGE01303171
GADGE01 303172
Answered

z




0.2 RN e adhgear guf glvararé) wsiRgren (7 swft @refierdd wtorar vafa e oifgst?

0.3 7,1218.7
Ans o 1.25
X 2.24
X 3.23
X 4.26
Question Type : KICG
Question ID : E30HENEILHT
Option 1 ID : 630GE0TI0EASS
Option 2 ID : G30GE01 302898
Option 3 ID : GADGEIN30ZAST
Option 4 ID : G3DGENT30ZI00
Status : Anawered
Chosen Option : 1
Marks : Z
0.23 wRoww an: {723 + 1992)2 =(723 - 1002)3H(723 = 1092)
Ans X 1.7
w24
X 3.5
X 4.6
Question Type : MELd
Question ID : BI0GS03F4R55
Option 1 ID : EANGEENT 303092
Option 2 ID : GADGEENT 3030ES
Option 3 ID : EADGENT 302050
Option 4 ID : EA0HE0T 303061
Status : AnEwered
Chosen Option : Z
Marks : Z




(.24 R faum sufor Freend wergdes aran. fRumiaed Raeh ariRd & ammauot ra aewidah
NTST AT 3MTEe, T off T o118 ot T[Ea e, e fRsepufaht switoran/a s

fectea fremish achena e/ emad & a<ar.

faem:

fasepd 1-94 =12, wrear s,
fArserd : gang) @, Tad ATl

Ans X 1.1 fohar 2 G geRgt e deheTa AT
W 2. Hacs ey 1 qEheTa o,
X 3. %haes fshy 2 JhTd 3.
75 4.1 fohar 2 g aigt sy acheTa simed.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

MCQ
EAD6E0334954
EADGS0T 02071
EINGE0N I0HED
6I06E0 303070
G306&01 303072
Answered

4

L]

(.25 SR+ IgUTS! — IR, — TEUIS! = 3T, = FFUTS! + 3R, + gUTol # 3R, R [ 7) =7 U=t &gy A )

54416-3+6x2=7
ANE 1.9

X 2.12
X 3.7
X 4n

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MECT)
GADGEDIFAHZ
BANGE0N INZITO
E30EE0N 30Z9T2
EID6E0T 307969
GADGEIN30TIT
Answared

1

z




